rm495 AVG BLR La 1215.67 rm495 AVG BLR NV 1240.14 rm495 AVG BLR SilV 1396.76
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velocity (km/s) z=2.263330 velocity (km/s) z=2.263330 velocity (km/s) z=2.263330
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-1.5x10* —-10*  -5000 0 5000 10* 1.5x10* —2x10* —10* 0 10* 2x10* -15x10* —-10*  -5000 0 5000 10* 1.5x1
velocity (km/s) z=2.263330 velocity (km/s) z=2.263330 velocity (km/s) z=2.263330
rm495 AVG BLR Mgl 2798.75
WinHW 14120 km/s 2670 2934 S/N 25.9
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-1.5x10*  —10*  -5000 0 5000 10* 1.5x10*

velocity (km/s) z=2.263330

S BLR 14120 NLR 900 km/s

< BLR 14120 NLR 900 km/s



